
QID : 1 - 

Options:
1) 14

2) 16

3) 17

4) 24
 Correct Answer: 17

 Candidate Answer: 17

QID : 2 - 

Options:
1) 4

2) 8

3) 12

4) 16
 Correct Answer: 12

 Candidate Answer: 12
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QID : 3 - 

Options:
 1) 12, 03, 21, 56

2) 24, 88, 21, 89

3) 69, 03, 57, 89

4) 12, 87, 57, 55
 Correct Answer: 12, 87, 57, 55

 Candidate Answer: 12, 87, 57, 55
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Options:
1) 

2) 

3) 

4) 

 Correct Answer: 

 Candidate Answer: 
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Options:
1) 

2) 

3) 

4) 

 Correct Answer: 

 Candidate Answer: 
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Options:
1) 

2) 

3) 

4) 

 Correct Answer: 

 Candidate Answer: 
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Options:
1) 

2) 

3) 

4) 

 Correct Answer: 

 Candidate Answer: 

QID : 8 - If '×' means '–', '–' means '+', '+' means '÷' and '÷' means '×', then

56 + 14 ÷ 28 = ?

यिद '×' का अथ� '–', '–' का अथ� '+', '+' का अथ� '÷' तथा '÷' का अथ� '×' हो, तो

56 + 14 ÷ 28 = ?
Options:
1) 56
2) 98

 3) 112
4) 42
Correct Answer: 112
Candidate Answer: 112

QID : 9 - If 11 ×12 × 10 = 101211 and 9 × 11 × 8 = 8119, then

5 × 14 × 12 = ?

यिद 11 ×12 × 10 = 101211 तथा 9 × 11 × 8 = 8119 हो, तो

5 × 14 × 12 = ?
Options:
1) 51412
2) 12145
3) 52141
4) 21541
Correct Answer: 12145
Candidate Answer: 12145

(6)
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QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Layer
2. Laser
3. Label
4. Logic
5. Loyal

िन�िल�खत श�ो ंको श�कोश म� आने वाले �म के अनुसार िलख�।

1. Layer
2. Laser
3. Label
4. Logic
5. Loyal
Options:
1) 35412

2) 34125

3) 41235

4) 32145
 Correct Answer: 32145

 Candidate Answer: 32145

QID : 11 - In the following question, select the missing number from the given series.

17, 23, 31, 37, 45, 51, 59, ?

िन�िल�खत �� म� िदए गए िवक�ो ंम� से लु� अंक �ात कीिÿए।

17, 23, 31, 37, 45, 51, 59, ?
Options:
1) 65

2) 67

3) 63

4) 69
 Correct Answer: 65

 Candidate Answer: 65

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AZ, BY, CZ, DW, ?

एक अनु�म िदया गया है, िÿसम� से एक पद लु� है। िदए गए िवक�ो ंम� से वह सही िवक� ýुिनए, ÿो अनु�म को पूरा करे।

AZ, BY, CZ, DW, ?
Options:
1) EF

2) FU

3) EV

4) FV
 Correct Answer: EV

 Candidate Answer: EV

QID : 13 - In the following question, select the odd word from the given alternatives.

िन�िल�खत �� म� िदए गए िवक�ो ंम� से िवषम श� को ýुिनए।
Options:
1) Pen
कलम

 2) Pencil
प�िसल

 3) Page
पृ�

 4) Wax colour
मोमी रंग

(7)
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Correct Answer: Page
पृ�
Candidate Answer: Page
पृ�

QID : 14 - In the following question, select the odd number pair from the given alternatives.

िन�िल�खत �� म� िदए गए िवक�ो ंम� से िवषम सं�ा यु� को ýुिनए।
Options:

 1) 10,1000
2) 5, 125
3) 6, 216
4) 4, 66
Correct Answer: 4, 66
Candidate Answer: 4, 66

QID : 15 - In the following question, select the odd letters from the given alternatives.

िन�िल�खत �� म� िदए गए िवक�ो ंम� से िवषम अ�रो ंको ýुिनए।
Options:
1) PQO

2) JKI

3) UVT

4) FEG
 Correct Answer: FEG

 Candidate Answer: FEG

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Flower, Rose, Sunflower

वह आरेख ýुिनए ÿो नीýे िदए गए वग� के बीý के संबंध का सही िन�पण करता है।

फूल, गुलाब, सूरजमुखी
Options:
1) 

2) 

3) 

4) 

 Correct Answer: 

(8)
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Candidate Answer: 

QID : 17 - In the following question, select the related word from the given alternatives.

Hockey : Stick : : Tennis : ?

िन�िल�खत �� म� िदए गए िवक�ो ंम� से संबंिधत श� को ýुिनए।

हॉकी : ��क : : टेिनस : ?
Options:

 1) Racket
रैकेट

 2) Bat
ब�ा

 3) Gloves
द�ाने

 4) Helmet
हेलमेट
Correct Answer: Racket
रैकेट
Candidate Answer: Gloves
द�ाने

QID : 18 - In the following question, select the related number from the given alternatives.

729 : 512 : : 343 : ?

िन�िल�खत �� म� िदए गए िवक�ो ंम� से संबंिधत सं�ा को ýुिनए।

729 : 512 : : 343 : ?
Options:
1) 125

2) 216

3) 64

4) 225
 Correct Answer: 216

 Candidate Answer: 216

QID : 19 - In the following question, select the related letters from the given alternatives.

NPSA : PRUC : : BLUE : ?

िन�िल�खत �� म� िदए गए िवक�ो ंम� से संबंिधत अ�रो ंको ýुिनए।

NPSA : PRUC : : BLUE : ?
Options:
1) CMVH

2) DNWG

3) DNVH

4) CMWG
 Correct Answer: DNWG

 Candidate Answer: DNWG

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

METICULOUS

िन�िल�खत िवक�ो ंम� से वह श� ýुिनए ÿो िदए गए श� के अ�रो ंका �योग करके नही ंबनाया ÿा सकता।

METICULOUS

(9)

Go
vtJ
ob
sA
ler
t.In

Download More Papers From GovtJobsAlert.In

Download More Papers From GovtJobsAlert.In



Options:
1) TIME

2) SOME

3) SLIT

4) MEN
 Correct Answer: MEN

 Candidate Answer: MEN

QID : 21 - Present age of P is 34 years. 8 years hence ages of P and Q will be in ratio 7 : 4. What is the present age (in years) of Q?

P की वत�मान आयु 34 वष� है। 8 वष� प�ात P तथा Q की आयु का अनुपात 7 : 4 होगा। Q की वत�मान आयु (वष� म�) �ा है?
Options:
1) 12

2) 20

3) 16

4) 24
 Correct Answer: 16

 Candidate Answer: [ NOT ANSWERED ]

QID : 22 - In a row of shirts, white shirt is 15th from right and yellow is 17th from left. If there are 40 shirts in the row, then how many shirts are there between
white and yellow shirts?

कमीज़ो की एक पं�� म�, सफेद कमीज़ दाय� से 15 वी है तथा पीली कमीज़ बाय� से 17 वी है। यिद पं�� म� 40 कमीज़े ह�, तो सफेद तथा पीली कमीज़ो के म� िकतनी कमीज़े ह�?
Options:
1) 8
2) 9

 3) 10
4) 11
Correct Answer: 8
Candidate Answer: 8

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
 I. Some cups are plates.

II. No cup is blue.

Conclusions:
 I. No plate is blue.

 II. No blue is plate.

नीýे िदए गए �� म� कुþ कथन और उनके बाद उन कथनो ंपर आधा�रत कुþ िन�ष� िदए गए ह�, हालांिक उनम� सामा� �ात त�ो ंसे िभ�ता हो सकती है। सभी िन�ष� पढ़�  और िफर िनधा��रत
कर�  िक िदए गए कौन से िन�ष�, िदए गए कथनो ंके आधार पर यु��संगत ह�।

कथनः
 I. कुþ कप �ेट ह�।

 II. कोई कप नीला नही ंह�।

िन�ष�ः
 I. कोई �ेट नीली नही ंह�।

 II. कोई नीला �ेट नही ंह�।
Options:

 1) Only conclusion (I) follows.
केवल िन�ष� (I) सही है।

 2) Only conclusion (II) follows.
केवल िन�ष� (II) सही है।

 3) Both conclusion follow.
दोनो ंही िन�ष� सही ह�।

 4) Neither conclusion (I) nor conclusion (II) follows.
न तो िन�ष� (I) न ही िन�ष� (II) सही है।
Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
न तो िन�ष� (I) न ही िन�ष� (II) सही है।
Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.
न तो िन�ष� (I) न ही िन�ष� (II) सही है।

(10)
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QID : 24 - In a certain code language, "JUMP" is written as "LWOR". How is "COZY" written in that code language?

एक िविश� कोड भाषा म�, "JUMP" को "LWOR" िलखा ÿाता है। इस कोड भाषा म� "COZY" को िकस �कार िलखा ÿाएगा?
Options:
1) DQBA

2) EQBA

3) EPBA

4) EQBZ
 Correct Answer: EQBA

 Candidate Answer: EQBA

QID : 25 - In a certain code language, "SHE" is written as "32" and "MAN" is written as "28". How is "THE" written in that code language?

एक िविश� कोड भाषा म�, "SHE" को "32" तथा "MAN" को "28" िलखा ÿाता है। इस कोड भाषा म� "THE" को िकस �कार िलखा ÿाएगा?
Options:
1) 31

2) 34

3) 32

4) 33
 Correct Answer: 33

 Candidate Answer: 33

QID : 26 - What is the sum of first 25 odd natural number?

�थम 25 िवषम �ाकृत सं�ाओ ंका योग �ा है?
Options:
1) 475

2) 575

3) 600

4) 625
 Correct Answer: 625

 Candidate Answer: 625

QID : 27 - What is the sum of all natural numbers between 1 and 150 which are multiples of 3?

1 से 150 तक के म� आने वाली सभी �ाकृत सं�ाओ,ं ÿो 3 का गुणÿ हो का योग �ा है?
Options:
1) 3825

2) 4235

3) 3735

4) 4415
 Correct Answer: 3825

 Candidate Answer: 3735

QID : 28 - 

Options:
1) 128
2) 64

 3) 256
4) 512
Correct Answer: 256
Candidate Answer: 256

(11)
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QID : 29 - How many numbers less than 100 are multiples of both 3 and 4?

100 से कम ऐसी िकतनी सं�ाएँ ह� ÿो 3 तथा 4 दोनो ंके गुणÿ ह�?
Options:
1) 7

2) 8

3) 6

4) 12
 Correct Answer: 8

 Candidate Answer: [ NOT ANSWERED ]

QID : 30 - What is the HCF of 12, 15 and 48?

12, 15 तथा 48 मह�म समापवत�क �ा है?
Options:
1) 5

2) 1

3) 3

4) 6
 Correct Answer: 3

 Candidate Answer: [ NOT ANSWERED ]

QID : 31 - What is the LCM of 8, 12 and 20?

8, 12 तथा 20 लघु�म समापव�� �ा है?
Options:
1) 120
2) 240
3) 60

 4) 360
Correct Answer: 120
Candidate Answer: 120

QID : 32 - A can do a piece of work in 30 days and B in 40 days. With help of C, they finish the work in 10 days. In how many days C alone can do the same work?

A िकसी काय� को 30 िदन म� कर सकता है तथा B, 40 िदन म� C की सहायता से वे काय� को 10 िदन म� काय� समा� कर लेते ह�। C अकेला उस काय� को िकतने िदन म� करेगा?
Options:
1) 12

2) 15

3) 18

4) 24
 Correct Answer: 24

 Candidate Answer: [ NOT ANSWERED ]

QID : 33 - A is twice as good as B and together they finish a piece of work in 48 days. What is the number of days taken by A alone to finish the work?

A की काय� कुशलता B से दुगुनी है तथा वे दोनो ंिमलकर िकसी काय� को 48 िदन म� पूरा कर सकते ह�। A अकेला उस काय� को िकतने िदन म� पूरा कर सकता है?
Options:
1) 72

2) 58

3) 56

4) 96
 Correct Answer: 72

 Candidate Answer: 96

QID : 34 - If the ratio of edges of two cubes is 3 : 4, then what is the ratio of the volume of the two cubes?

यिद दो घनो ंकी भुÿाओ ंका अनुपात 3 : 4 हो, तो दोनो ंघनो ंके आयतन का �ा अनुपात होगा?

(12)
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Options:
 1) 27 : 64

2) 3 : 4

3) 9 : 16

4) 9 : 64
 Correct Answer: 27 : 64

 Candidate Answer: 9 : 64

QID : 35 - A trader allows two successive discounts of 10% and 30% on selling an article. If he gets Rs 630 for that article, then what is the marked price (in Rs) of
the article?

एक िव�ेता िकसी व�ु को बेýते समय दो �िमक þूट 10% तथा 30% देता है। यिद कोई इसे 630 � म� �ा� करता है, तो व�ु का अंिकत मू� (� म�) �ा है?
Options:
1) 1000

2) 1100

3) 980

4) 1150
 Correct Answer: 1000

 Candidate Answer: [ NOT ANSWERED ]

QID : 36 - The marked price of an article is twice the cost price. For a gain of 10%, what should be the discount percentage?

एक व�ु का अंिकत मू� इसकी लागत मू� से दोगुना है। 10% लाभ �ा� करने के िलए, þूट �ितशत �ा है?
Options:
1) 45

2) 55

3) 50

4) 60
 Correct Answer: 45

 Candidate Answer: [ NOT ANSWERED ]

QID : 37 - If A : B = 3 : 4 and B : C = 4 : 5, then what is A : B : C?

यिद A : B = 3 : 4 और B : C = 4 : 5 हो, तो A : B : C �ा होगा?
Options:

 1) 3 : 4 : 5
2) 3 : 4 : 7
3) 2 : 3 : 5
4) 3 : 5 : 4
Correct Answer: 3 : 4 : 5
Candidate Answer: [ NOT ANSWERED ]

QID : 38 - If (4/5)P = (3/2)Q = (2/3)R, then what is P : Q : R?

यिद (4/5)P = (3/2)Q = (2/3)R हो, तो P : Q : R �ा होगा?
Options:

 1) 15 : 8 : 18

2) 15 : 8 : 9

3) 8 : 15 : 9

4) 4 : 3 : 2
 Correct Answer: 15 : 8 : 18

 Candidate Answer: [ NOT ANSWERED ]

QID : 39 - The average of 18, 20, 32, 8, x, 9 and 13 is 17. What is the value of x?

18, 20, 32, 8, x, 9 तथा 13 का औसत 17 है। x का मान �ा है?

(13)
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Options:
1) 21

2) 19

3) 18

4) 20
 Correct Answer: 19

 Candidate Answer: 19

QID : 40 - If chairs are bought at Rs 500 each and sold at Rs 700 each, then what will be the profit percentage?

यिद कुिस�यो ंको 500 � �ित कुस� की दर से खरीदकर 700 � �ित कुस� की दर से बेý िदया ÿाये, तो लाभ �ितशत �ा होगा?
Options:
1) 10%

2) 20%

3) 30%

4) 40%
 Correct Answer: 40%

 Candidate Answer: [ NOT ANSWERED ]

QID : 41 - An article is sold at 10% profit instead of 10% loss, the man gains Rs 20 more. What is the cost price (in Rs) of that article?

एक व�ु को 10% हािन के बदले 10% लाभ पर बेýने पर एक ��� को 20 � अिधक �ा� होते है। व�ु का �य मू� (� म�) �ा है?
Options:
1) 50

2) 100

3) 200

4) 400
 Correct Answer: 100

 Candidate Answer: 100

QID : 42 - If P got 20% marks less than Q, then the marks of Q is how much percent more than P?

यिद P को Q से 20% कम अंक �ा� �ए, तो Q के अंक P के अंको ंसे िकतने �ितशत अिधक है?
Options:
1) 20
2) 10
3) 25
4) 15
Correct Answer: 25
Candidate Answer: 25

QID : 43 - If the price of a commodity is decreased by 20% and its consumption is increased by 40%, then what will be the increase or decrease in the expenditure
of the commodity?

एक व�ु की कीमत 20% कम हो ÿाती है तथा इसकी खपत 40% बढ़ ÿाती है, तो व�ु पर खý� म� िकतने �ितशत की कमी या वृ�� होगी?
Options:

 1) 12% decrease
12% की कमी

 2) 12% increase
12% की वृ��

 3) 20% increase
20% की वृ��

 4) 20% decrease
20% की कमी
Correct Answer: 12% increase
12% की वृ��
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Speeds of a boat along the current and against the current are 16 km/hr and 10 km/hr respectively. What is the speed of boat (in km/hr) in still water?

एक नाव की गित धारा के अनुकूल तथा धारा के �ितकूल िदशा म� �मशः 16 िक.मी./घंटा तथा 10 िक.मी./घंटा है। शांत ÿल म� नाव की गित (िक.मी./घंटा म�) �ा है?

(14)
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Options:
1) 4

2) 12

3) 13

4) 14
 Correct Answer: 13

 Candidate Answer: [ NOT ANSWERED ]

QID : 45 - A bus travels some distance at a speed of 12 km/hr and returns at a speed of 8 km/hr. If the total time taken by the bus is 20 hours, then what is the
distance (in km)?

एक बस 12 िक.मी./घंटा की गित से कुþ दूरी तय करती है तथा 8 िक.मी./घंटा की गित से वापस आती है। यिद बस इसे तय करने म� कुल 20 घंटे का समय लेती है, तो दूरी (िक.मी. म�) �ा है?
Options:
1) 80

2) 84

3) 96

4) 92
 Correct Answer: 96

 Candidate Answer: 80

QID : 46 - A sum was invested on simple interest at a certain rate for 3 years. If the interest rate is increased by 5%, then the interest increases by Rs 225. What is
the sum (in Rs) invested?

एक धनरािश �ाÿ की िकसी वािष�क दर से 3 वष� के िलए साधारण �ाÿ म� िनवेश की ÿाती है। यिद �ाÿ दर 5% से बढ़ा दी ÿाए तो �ाÿ 225 � से बढ़ ÿाता है। िनवेश की गई धनरािश (�
म�) �ा है?

 Options:
1) 1000

2) 1500

3) 1750

4) 2000
 Correct Answer: 1500

 Candidate Answer: 1500

(15)
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QID : 47 - 

What is the percentage decrease in the number of car stolen in year 2015 from year 2014 from city P?

शहर P म�, वष� 2015 म� ýोरी �ई गािड़यो ंकी सं�ा म� वष� 2014 म� ýोरी �ई गािड़यो ंकी सं�ा म� िकतने �ितशत की कमी �ई है?
Options:
1) 50

2) 20

3) 25

4) 33.33
 Correct Answer: 33.33

 Candidate Answer: [ NOT ANSWERED ]

(16)
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QID : 48 - 

In how many years the number of cars stolen from city P is more than the number of cars stolen from city Q?

िकतने वष� म�, शहर P म� ýोरी �ई गािड़यो ंकी सं�ा शहर Q म� ýोरी �ई गािड़यो ंकी सं�ा से अिधक है?
Options:
1) 1

2) 2

3) 3

4) 5
 Correct Answer: 2

 Candidate Answer: [ NOT ANSWERED ]
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QID : 49 - 

In which year from 2008 to 2016, the combined number of stolen cars from city P and Q is maximum?

वष� 2008 से 2016 तक, िकस वष� म� शहर P तथा शहर Q म� ýोरी �ई गािड़यो ंकी संयोिÿत सं�ा सबसे अिधक है?
Options:
1) 2008
2) 2009
3) 2012
4) 2016
Correct Answer: 2009
Candidate Answer: [ NOT ANSWERED ]
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QID : 50 - 

The total number of stolen cars from the two cities in year 2015 is what percent of the total number of cars stolen from the two cities in 2016?

वष� 2015 म� दोनो ंशहरो ंम� ýोरी �ई गािड़यो ंकी कुल सं�ा वष� 2016 म� दोनो ंशहरो ंम� ýोरी �ई गािड़यो ंकी कुल सं�ा का िकतना �ितशत है?
Options:
1) 82.5

2) 86.5

3) 87.5

4) 79.5
 Correct Answer: 82.5

 Candidate Answer: [ NOT ANSWERED ]

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

She did (1)/ nothing else (2)/ than study. (3)/ No Error (4)

Options:
1) 1

2) 2

3) 3

4) 4
 Correct Answer: 3

 Candidate Answer: 3

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

There is a (1)/ village about (2)/ the river. (3)/ No Error (4)

Options:
1) 1
2) 2
3) 3
4) 4
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Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

He died ______ chance.

Options:
1) from
2) with
3) of

 4) by
Correct Answer: by
Candidate Answer: by

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Her fingers were numb ______ cold.

Options:
1) with
2) of

 3) for
4) on
Correct Answer: with
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Crumble

Options:
1) Build

2) Assemble

3) Submissive

4) Forge
 Correct Answer: Submissive

 Candidate Answer: Assemble

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Defiant

Options:
 1) Obedient

 2) Respectful
 3) Submissive

4) Rebellious
Correct Answer: Rebellious
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Frail

Options:
1) Feeble
2) Firm

 3) Unbreakable
4) Strong
Correct Answer: Feeble
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Elasticity

(20)
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Options:
 1) Adaptability

2) Flexibility
 3) Rubberiness

4) Rigidity
Correct Answer: Rigidity
Candidate Answer: Adaptability

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Irreversible

Options:
 1) Certain
 2) Permanent

 3) Predetermined
4) Repairable
Correct Answer: Repairable
Candidate Answer: Predetermined

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Potential

Options:
 1) Lacking

2) Hidden

3) Modern

4) Ability
 Correct Answer: Lacking

 Candidate Answer: Ability

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Out at the elbows

Options:
 1) Stubborn

2) Poor

3) To be blunt

4) Rigid
 Correct Answer: Poor

 Candidate Answer: Poor

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Come off

Options:
 1) Launch oneself

2) Be separated

3) have deposited

4) Taking leave
 Correct Answer: Be separated

 Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Improve the bracketed part of the sentence.

I will allow you to stay here when you (will deposit) Rs 800.
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Options:
 1) has deposit

2) deposited
 3) have deposited

 4) No improvement
Correct Answer: No improvement
Candidate Answer: deposited

QID : 64 - Improve the bracketed part of the sentence.

Rohit's miserable condition (made her wept).
Options:

 1) made her to weep
2) made her to wept
3) made her weep

 4) No improvement
Correct Answer: made her weep
Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Treatment by means of exercise and massage.

Options:
 1) Chemotherapy

2) Electrotherapy

3) Redundant

4) Radiotherapy
 Correct Answer: Redundant

 Candidate Answer: [ NOT ANSWERED ]

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who journeys from place to place.

Options:
 1) Hesitant

2) Itinerant

3) Daughter

4) Triumphant
 Correct Answer: Itinerant

 Candidate Answer: [ NOT ANSWERED ]

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
 1) Doughter

2) Daughtor
3) Daughter
4) Duaghter
Correct Answer: Daughter
Candidate Answer: Daughter

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
 1) Appearance

2) Appearence
3) Appaerance
4) Apearrance
Correct Answer: Appearance
Candidate Answer: [ NOT ANSWERED ]
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QID : 69 - Rearrange the parts of the sentence in correct order.

Low initial and
 P: of cellular communication

Q: recurring costs are
 R: an important advantage

Options:
1) QRP
2) PQR
3) RPQ
4) PRQ
Correct Answer: QRP
Candidate Answer: PQR

QID : 70 - Rearrange the parts of the sentence in correct order.

The relevance of education
 P: will have to be ensured

 Q: social, cultural and economic progress.
R: professionally in the context of

Options:
1) PRQ
2) RPQ
3) QRP
4) QPR
Correct Answer: PRQ
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have all ______ an old saying “a friend in need is a friend indeed“. A real or true friend is always ______ to help us when we need them. At the same time, it is
our ______ to remain helpful towards our friends. This proverb means that ‘a friend who helps his friend in ______ is a real friend’. The proverb could be taken to
mean that ‘friends ______ on each other’. If someone is our friend, we should be glad to help them when they need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.

We have all ______ an old saying

Options:
1) read

 2) across
3) heard
4) saw
Correct Answer: heard
Candidate Answer: saw

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have all ______ an old saying “a friend in need is a friend indeed“. A real or true friend is always ______ to help us when we need them. At the same time, it is
our ______ to remain helpful towards our friends. This proverb means that ‘a friend who helps his friend in ______ is a real friend’. The proverb could be taken to
mean that ‘friends ______ on each other’. If someone is our friend, we should be glad to help them when they need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.

A real or true friend is always______

Options:
1) willing
2) billing

 3) chilling
 4) thrilling

Correct Answer: willing
Candidate Answer: [ NOT ANSWERED ]
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QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have all ______ an old saying “a friend in need is a friend indeed“. A real or true friend is always ______ to help us when we need them. At the same time, it is
our ______ to remain helpful towards our friends. This proverb means that ‘a friend who helps his friend in ______ is a real friend’. The proverb could be taken to
mean that ‘friends ______ on each other’. If someone is our friend, we should be glad to help them when they need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.

it is our ______ to remain helpful

Options:
1) wish

 2) compulsion
3) problem

 4) responsibility
Correct Answer: responsibility
Candidate Answer: [ NOT ANSWERED ]

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have all ______ an old saying “a friend in need is a friend indeed“. A real or true friend is always ______ to help us when we need them. At the same time, it is
our ______ to remain helpful towards our friends. This proverb means that ‘a friend who helps his friend in ______ is a real friend’. The proverb could be taken to
mean that ‘friends ______ on each other’. If someone is our friend, we should be glad to help them when they need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.

helps his friend in ______ is a real

Options:
1) greed
2) need

 3) weed
 4) speed

Correct Answer: need
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have all ______ an old saying “a friend in need is a friend indeed“. A real or true friend is always ______ to help us when we need them. At the same time, it is
our ______ to remain helpful towards our friends. This proverb means that ‘a friend who helps his friend in ______ is a real friend’. The proverb could be taken to
mean that ‘friends ______ on each other’. If someone is our friend, we should be glad to help them when they need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.

friends ______ on each other'.

Options:
 1) burden

2) rely
 3) deny

4) cry
Correct Answer: rely
Candidate Answer: rely

QID : 76 - What is the full form of IDA?

आई. डी. ए. का असंि�� �प �ा है?
Options:

 1) Indian Development Association
इंिडयन डेवलपम�ट एसोिसएशन

 2) International Development Association
इंटरनेशनल डेवलपम�ट एसोिसएशन

 3) Indonesian Development Association
इंडोनेिशयन डेवलपम�ट एसोिसएशन

 4) Italian Development Association
इटािलयन डेवलपम�ट एसोिसएशन
Correct Answer: International Development Association
इंटरनेशनल डेवलपम�ट एसोिसएशन
Candidate Answer: Indian Development Association
इंिडयन डेवलपम�ट एसोिसएशन
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QID : 77 - What is the record of all economic transactions of a country in a particular period called?

िकसी देश की एक िनि�त अविध म� होने वाली सभी आिथ�क लेन-देन के अिभलेख को �ा कहते ह�?
Options:

 1) Balance of Payment
भुगतान संतुलन

 2) Fiscal Deficit
राÿकोषीय घाटा

 3) Current Account Deficit
ýालू खाता घाटा

 4) Balance of trade
�ापार का संतुलन
Correct Answer: Balance of Payment
भुगतान संतुलन
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - Which schedule of the Indian constitution deals with ‘Forms of Oath or Affirmations’?

भारतीय संिवधान के िकस अनुसूýी म� ‘शपथ या �ित�ान के �ा�प’ के बारे म� बताया है?
Options:

 1) First Schedule
पहली अनुसूýी

 2) Third Schedule
तीसरी अनुसूýी

 3) Fifth Schedule
पाँýवी ंअनुसूýी

 4) Twelfth Schedule
बारहवी ंअनुसूýी
Correct Answer: Third Schedule
तीसरी अनुसूýी
Candidate Answer: Fifth Schedule
पाँýवी ंअनुसूýी

QID : 79 - Which Article of the Indian Constitution gives the arrested person the right to be presented before a magistrate within 24 hours?

भारतीय संिवधान के िकस अनु�ेद म� िगर�ारी के 24 घंटो के अंतराल मिÿ�� ेट के सामने पेश होने का अिधकार है?
Options:

 1) Article 24
अनु�ेद 24

 2) Article 21
अनु�ेद 21

 3) Article 22
अनु�ेद 22

 4) Article 14
अनु�ेद 14
Correct Answer: Article 22
अनु�ेद 22
Candidate Answer: Article 21
अनु�ेद 21

QID : 80 - Where was the capital transferred to, from Delhi by Muhammad Tughlaq?

मुह�द तुग़लक �ारा िद�ी से अपनी राÿधानी कहाँ बदली थी?
Options:
1) Agra
आगरा

 2) Lucknow
लखनऊ

 3) Ferozabad
िफरोÿाबाद

 4) Daulatabad
दौलताबाद
Correct Answer: Daulatabad
दौलताबाद
Candidate Answer: Ferozabad
िफरोÿाबाद

QID : 81 - In which Indian city did the East India Company first landed?

ई� इंिडया कं पनी िकस भारतीय शहर म� पहली बार आयी?
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Options:
 1) Calcutta

कलक�ा
 2) Bombay

बंबई
 3) Madras

म�ास
 4) Surat

सूरत
Correct Answer: Surat
सूरत
Candidate Answer: Surat
सूरत

QID : 82 - What is the value of Prime Meridian?

�मुख या�ो�र का मान �ा है?
Options:

 1) 0° Latitude
0° अ�ांश

 2) 0° Longitude
0° देशा�र

 3) 180° Longitude
180° देशा�र

 4) 180° Latitude
180° अ�ांश
Correct Answer: 0° Longitude
0° देशा�र
Candidate Answer: 180° Longitude
180° देशा�र

QID : 83 - What is the Pluto called after August 2006?

अग� 2006 के बाद �ूटो �ह को �ा कहा ÿाता है?
Options:
1) Planet
�ह

 2) Dwarf Planet
बौना �ह

 3) Moon
ýँ�मा

 4) Blue Planet
नीला �ह
Correct Answer: Dwarf Planet
बौना �ह
Candidate Answer: Dwarf Planet
बौना �ह

QID : 84 - Which is/are biotic components?
I. Plants

 II. Animals
III. Soil

िन� म� से ÿैव घटक कौन है?
I. पौध�

 II. ÿंतु
 III. िम�ी

 Options:
1) Only I
केवल I

 2) Only II
केवल II

 3) Both I and II
I तथा II दोनों

 4) All I II and III
सभी I, II तथा III
Correct Answer: Both I and II
I तथा II दोनों
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Candidate Answer: Only II
केवल II

QID : 85 - Muscular contractions of alimentary canal are ______.

आहार नाली म� पेशीय संकुýन ______ कहलाते ह�।
Options:

 1) Digestion
पाýन

 2) Chewing
ýबाना

 3) Peristalsis
�माकंुýन

 4) Churning
आलोड़न
Correct Answer: Peristalsis
�माकंुýन
Candidate Answer: Digestion
पाýन

QID : 86 - Number of RBC increases if one lives at higher altitude because ______.

ऊँýाई वाले �थानो ंपर रहने वाले लोगो ंम� लाल र� कोिशकाओ ंकी सं�ा बढ़ ÿाती है �ोिंक ______।
Options:

 1) There is less oxygen on mountains
पव�तो ंपर ऑ�ीÿन की मा�ा कम होती है

 2) More heat is required in body for producing body warmth
शरीर को गम� करने के िलए अिधक ऊ�ा की आव�कता होती है
3) There are no germs in mountain air
पव�तीय वायु म� कीटाणु नही ंहोते

 4) There is more oxygen on mountains
पव�तो ंपर अिधकऑ�ीÿन �ा� होती है
Correct Answer: There is less oxygen on mountains
पव�तो ंपर ऑ�ीÿन की मा�ा कम होती है
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Rainbow is a natural phenomenon of _____ of light.

इं�धनुष की एक �ाकृितक प�रघटना है ÿो �काश के _____ से है।
Options:

 1) Reflection
परावत�न

 2) Refraction
अपवत�न

 3) Diffusion
िवस�रकरण

 4) Dispersion
िव�ेपण
Correct Answer: Dispersion
िव�ेपण
Candidate Answer: Refraction
अपवत�न

QID : 88 - Which of the following statement is not true regarding electromagnets?

िवद्यु त ýंुबक के संबंध म� कौन सा कथन स� नही ंहै?
Options:

 1) They do not lose magnetism when electric current is switched off.
वे िवद्यु त धारा का �वाह समा� होने पर अपना ýंुबक� नही ंखोते।
2) They can be made very strong to lift heavy objects.

 इ�� अ�ंत भारी बोĀ उठाने के िलए अित �बल बनाया ÿा सकता है।
3) They are used to separate magnetic material from junk.

 इनका उपयोग कबाड़ से ýंुबकीय पदाथ� को पृथक करने के िलए िकया ÿाता है।
4) They attract pieces of iron

 वे लोहे के टुकड़ो के आकिष�त करते ह�।
Correct Answer: They do not lose magnetism when electric current is switched off.
वे िवद्यु त धारा का �वाह समा� होने पर अपना ýंुबक� नही ंखोते।
Candidate Answer: They attract pieces of iron
वे लोहे के टुकड़ो के आकिष�त करते ह�।
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QID : 89 - Which of the following is not a part of Computer network?

इनम� से कौन सा एक कं�ूटर नेटवक�  का िह�ा नही ंहै?
Options:
1) Bridge
ि�ÿ

 2) Cable
तार

 3) Modem
मॉडेम

 4) Mouse
माउस
Correct Answer: Mouse
माउस
Candidate Answer: Mouse
माउस

QID : 90 - Sub atomic particles of atoms are ______.

परमाणुओ ंके उप परमाणु कण ______ ह�।
Options:

 1) Only protons
केवल �ोटॉन

 2) Only neutron
केवल �ूट� ॉन

 3) Both protons & neutron
�ोटॉन तथा �ूट� ॉन दोनों

 4) Proton, electron & neutron
�ोटॉन, इले�� ॉन तथा �ूट� ॉन
Correct Answer: Proton, electron & neutron
�ोटॉन, इले�� ॉन तथा �ूट� ॉन
Candidate Answer: [ NOT ANSWERED ]

QID : 91 - The state in which molecular attractions are very strong is ______.

आणिवक आकष�ण िÿस अव�था म� मÿबूत होते ह�, वह ______ अव�था ह�।
Options:
1) Solid
ठोस

 2) Liquid
��

 3) Gas
गैस

 4) None of these
इनम� से कोई नही ं
Correct Answer: Solid
ठोस
Candidate Answer: [ NOT ANSWERED ]

QID : 92 - All the interacting organisms in an area together with the non-living constituents of the environment form an _____.

िकसी �े� के सभी ÿीव तथा वातावरण के अÿैव कारक संयु� �प से _____ बनता है।
Options:

 1) Ecology
 प�र��थितकी
 2) Hotspot

हॉट�ॉट
 3) Ecosystem

प�रतं�
 4) System

�णाली
Correct Answer: Ecosystem
प�रतं�
Candidate Answer: [ NOT ANSWERED ]

QID : 93 - Which among the following is not among the four key priority areas of National Action Plan for Children-2016?

िन�िल�खत म� से कौन सा ब�ों के िलए रा�� ीय काय� योÿना 2016 के ýार �मुख �ािथमकता �े� म� नहीं  ह?ै
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Options:
 1) Survival
 उ�रÿीिवता
 2) Health and Nutrition

�ा� तथा पोषण
 3) Education and development

िश�ा तथा िवकास
 4) Skill development

कौशल िवकास
Correct Answer: Skill development
कौशल िवकास
Candidate Answer: Survival
उ�रÿीिवता

QID : 94 - Who first measured the speed of light?

सव��थम �काश की गित िकसने मापी थी?
Options:

 1) William Gilbert
िविलयम िगलबट�

 2) Isaac Newton
आइज़ैक �ूटन

 3) Olaus Roemer
ओलॉस रोमर

 4) Albert Einstein
अ�ट� आइं� टीन
Correct Answer: Olaus Roemer
ओलॉस रोमर
Candidate Answer: Olaus Roemer
ओलॉस रोमर

QID : 95 - Heena Sidhu is associated with which sport?

हेना िसद्धू  िकस खेल से ÿुडी �ई ह�?
Options:

 1) Hockey
हॉकी

 2) Cricket
ि�केट

 3) Table Tennis
टेबल टेिनस

 4) Shooting
शूिटंग
Correct Answer: Shooting
शूिटंग
Candidate Answer: Table Tennis
टेबल टेिनस

QID : 96 - Phad paintings are type of ______ based paintings.

फड़ िý�कारी एक �कार की ______ आधा�रत िý�कारी है।
Options:
1) Pen
कलम

 2) Scroll
�ॉल

 3) Brush
�श

 4) None of these
इनम� से कोई नही ं
Correct Answer: Scroll
�ॉल
Candidate Answer: [ NOT ANSWERED ]

QID : 97 - Who among the following is not a recipient of Arjun Award 2017?

िन�िल�खत म� से अÿु�न पुर�ार 2017 का �ा�कता� कौन नही ंहै?
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Options:
 1) Devendro Singh

देवे� िसंह
 2) Harmanpreet Kaur

हरमन�ीत कौर
 3) Cheteshwar Pujara

ýेते�र पुÿारा
 4) Geeta Phogat

गीता फोगाट
Correct Answer: Geeta Phogat
गीता फोगाट
Candidate Answer: Devendro Singh
देवे� िसंह

QID : 98 - Who is the author of the book named “Tale of two Cities”?

"टेल ऑफ टू सीटीÿ" नामक पु�क के लेखक कौन ह�?
Options:

 1) Vikram Seth
िव�म सेठ

 2) Charles Dickens
ýा�� िडक� स

 3) Patrick White
पैिट� क �ाइट

 4) Shiv Khera
िशव खेरा
Correct Answer: Charles Dickens
ýा�� िडक� स
Candidate Answer: Vikram Seth
िव�म सेठ

QID : 99 - Which among the following is a bi-annual maritime exercise between Indian and Russian Navy?

भारतीय और �सी नौसेना के बीý एक सा�ा�ार म� िन� म� से कौन सा समु�ी अ�ास है?
Options:

 1) Hand-in-Hand
ह�ड-इन ह�ड
2) Indra
इं�

 3) Surya Kiran
सूय� िकरण

 4) Konkan
कोकंण
Correct Answer: Indra
इं�
Candidate Answer: Konkan
कोकंण

QID : 100 - Which among the following is not an operation performed by Indian Peace Keeping Force against LTTE as a part of the Indo-Sri Lankan Accord?

िन�िल�खत म� से कौन सा इंडो-�ीलंका समĀौते के अंतग�त एल.टी.टी.ई. के िव�� िकया गया ऑपरेशन नही ंहै?
Options:

 1) Operation Viraat
ऑपरेशन िवराट

 2) Operation Trishul
ऑपरेशन ि�शूल

 3) Operation Checkmate
ऑपरेशन ýेकमेट

 4) Operation Meghdoot
ऑपरेशन मेघदूत
Correct Answer: Operation Meghdoot
ऑपरेशन मेघदूत
Candidate Answer: [ NOT ANSWERED ]
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